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N? PLANO

ESCAIA/S:

Q37 m?
794 m?
918 m?
930 m?
938 m?
938 m?
938 m?

10.10 938 m?

10.6
10.7
10.8
10.9
10.11
10.12
10.13

1.094 m?
1.101 m?
Q04 m?
3.099 m?
874 m?

manzana 10

manzana 9
10.1

total

1.000 m?
1.000 m?
857 m?
13.672 m?
735 m?

A

manzana 8

712

713

714

total
8

934 m?
1.000 m?
1.000 m?
1.000 m?
1.000 m?
1.000 m?

Q04 m?

Q77 m?

manzana /

7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

manzana &
883 m?
6.2 884 m?
6.3 877 m?
6.4 873 m?
6.5 871 m?
6.6 870 m?
6.7 870 m?
6.8 853 m?

6.1
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total 14.198 m?

Sogepsa

manzana 4

manzana 2 manzana 3

manzana 1

1.380 m?

1.1

total 1.474 m?

988 m?
3.16 1.019m?

3.15
3.17

938 m?
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total  6.464 m?

2.8
2.9

826 m?

826 m?

2.10 800 m?

total 8.506 m?




